Opgavenblad

Nr Functie Afgeleide functie Letter
y = 2x-1n (x)
1
y =x*-log (x)
2
y=xVxF1
3
y = 3% - 2log(x)
4
y=2xV3x—1
5
y =3x2%-e3*




y=(1+2x)-2%

7
y = 5x - 3log(x)

8
N =t-In(3¢t)

9
B = 2q(1 + 29)

10

R =q/3q*+5—-6q
11
L =5"log(x) + 5x - In(x)
12

12

10




Antwoordblad

Nr Functie Afgeleide functie Letter
1 y = 2x-1n (%) %’%:Q.W\CX)ﬂ-Q M
2 y = 2% log (x) ggz: 3)(1% Cx)-). «Bizo) v
3 y = wEFT %& =x+1 + 93\3%@—’\ :
4 y = 3% - Zlog(x) %’i- :sxw% 3) gL% oo+ Q%,:(_Q) A
5 y = 2x\3x —1 %Lrl\g(——'l_:\' \%(XT_T P
6 y = 3x%- 3 %—%( = bx: e/gx‘i—ﬁxae/sx G
| vasmo |2 2227t ()2 a2
8 y = 5x - 3log(x) %&Z: 5- 3(}%61)-\- %"%’ X
9 N =t-1n (30) %Z M (3)+ | N
10 B = 2q(1 + 29) ﬁ - 2([—(—&?)-{- ,zcv .;Lq/(,«/\ L&) E
11 | R=gy37¥5-6q a—‘ﬁ/—:mﬂ(—__us%% —6 | A
12 | L =5 log(x) + 5% In(x) % :xub/\—[(o) +5hn &)’{‘ Y 0
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